# CONVERGENCE OF r-GENERALIZED FIBONACCI SEQUENCES AND AN EXTENSION OF OSTROWSKI'S CONDITION 

Rajae Ben Taher<br>Département de Mathématiques et Informatique, Faculté des Sciences Université My Ismail, B.P. 4010, Beni M'Hamed, Meknés, Morocco

## Mehdi Mouline

Département de Mathématiques et Informatique, Faculté des Sciences
Université Mohammed V, B.P. 1014, Rabat, Morocco

## Mustapha Rachidi

Département de Mathématiques et Informatique, Faculté des Sciences Université Mohammed V, B.P. 1014, Rabat, Morocco
(Submitted July 1999-Final Revision April 2002)

## 1. INTRODUCTION

Let $a_{0}, \ldots, a_{r-1}\left(r \geq 2, a_{r-1} \neq 0\right)$ be fixed real numbers. An $r$-generalized Fibonacci sequence $\left\{V_{n}\right\}_{n=0}^{+\infty}$ is defined by the linear recurrence relation of order $r$,

$$
\begin{equation*}
V_{n+1}=a_{0} V_{n}+a_{1} V_{n-1}+\cdots+a_{r-1} V_{n-r+1}, \text { for } n \geq r-1 \tag{1}
\end{equation*}
$$

where $V_{0}, \ldots, V_{r-1}$ are specified by the initial conditions. In the sequel we refer to these sequences as sequences (1) or (1). When $a_{i}(0 \leq i \leq r-1)$ are nonnegative and $\operatorname{gcd}\left\{i+1 ; a_{1}>0\right\}=1$, where gcd means the greatest common divisor, it was established in [10] that the characteristic polynomial $P(X)=X^{r}-a_{0} X^{r-1}-\cdots-a_{r-2} X-a_{r-1}$ has a unique positive zero $q$ and $|\lambda|<q$ for any other zero $\lambda$ of $P(X)$. And in [2] and [8] it was shown, by two different methods, that the limit of the ratio $V_{n} / q^{n}$ exists if and only if the Ostrowski condition $\operatorname{gcd}\left(i+1 ; a_{i}>0\right\}=1$ is satisfied.

The purpose of this paper is to study the extended Ostrowski condition by considering (C): $\operatorname{gcd}\left\{i+1 ; a_{i} \neq 0\right\}=1$ for sequences (1) in the case of real coefficients (Section 2). We apply Hörner's diagram to the convergence of sequences (1) (Section 3). An extension of (C) to the case of real coefficients is studied in Section 4. Finally, some concluding remarks are given in Section 5.

## 2. CONDITION (C) FOR SEQUENCES (1)

The Hörner diagram for a given polynomial $P(X)=a_{0} X^{n}+\cdots+a_{n-1} X+a_{n}$, where $a_{0}, a_{1}, \ldots$, $a_{n}$ are real numbers, is a process for computing the value of $P(\xi)$ for every $x=\xi$. Its main idea consists of writing $P(\xi)=\left(\cdots\left(\left(a_{0} \xi+a_{1}\right) \xi+a_{2}\right) \xi+\cdots\right) \xi+a_{n}$. Therefore, we can consider the finite sequence $\left\{\beta_{j}\right\}_{0 \leq j \leq n}$ defined as follows:

$$
\beta_{0}=a_{0}, \beta_{1}=\beta_{0} \xi, \beta_{2}=a_{2}+\beta_{1} \xi, \ldots, \beta_{n}=a_{n}+\beta_{n-1} \xi .
$$

Hence, we derive that $\beta_{n}=P(\xi)$ and $P(X)=Q(X)(X-\xi)+P(\xi)$, where $Q(X)=\beta_{0} X^{n-1}+\cdots+$ $\beta_{n-2} X+\beta_{n-1}$.

Suppose that sequence (1) converges. For $\lim _{n \rightarrow+\infty} V_{n} \neq 0$, we have $a_{0}+a_{1}+\cdots+a_{r-1}=1$. Suppose also that

$$
\begin{equation*}
a_{0}+a_{1}+\cdots+a_{r-1}=1 . \tag{2}
\end{equation*}
$$

## CONVERGENCE OF $r$-GENERALIZED FIBONACCI SEQUENCES AND AN EXTENSION OF OSTROWSKI'S CONDITION

Set $b_{i}=\sum_{j=i}^{r-1} a_{j}=\beta_{i}$ and $d=\operatorname{gcd}\left\{j+1 ; a_{j} \neq 0\right\}$. Then $b_{i}=\beta_{i}$ for $\xi=1$ and condition (2) implies that $b_{0}=1$. Assume that the following condition is satisfied:

$$
\begin{equation*}
\sum_{j=0}^{r-1} b_{j} \neq 0 \tag{3}
\end{equation*}
$$

By direct computation, we can verify that we have

$$
\begin{equation*}
V_{n}+b_{1} V_{n-1}+\cdots+b_{r-1} V_{n-r+1}=V_{r-1}+b_{1} V_{r-2}+\cdots+b_{r-1} V_{0} \tag{4}
\end{equation*}
$$

Thus,

$$
\lim _{n \rightarrow+\infty} V_{n}=\frac{\sum_{j=0}^{r-1}\left(\sum_{j=k}^{r-1} a_{k}\right) V_{j}}{\sum_{j=0}^{r-1}(j+1) a_{j}}
$$

This expression was established in [2] and [8]. If (3) is not satisfied, the characteristic polynomial takes the form $P(X)=(X-1)\left(X^{r-1}+b_{1} X^{r-2}+\cdots+b_{r-1}\right)$. Hence, $\lambda=1$ is of multiplicity $\geq 2$. Then $\left\{V_{n}\right\}_{n=0}^{+\infty}$ does not converge for any choice of the initial conditions.

In the case of nonnegative coefficients satisfying (2), it was shown in [2] and [8] that $\lim _{n \rightarrow+\infty} V_{n}$ exists for any choice of the initial conditions if and only if $(C)$ is satisfied. Let us establish that $(C)$ is still necessary in the case of arbitrary real coefficients. In [9] it was established that the combinatorial form of a sequence (1) is given by

$$
\begin{equation*}
V_{n}=A_{0} \rho(n, r)+A_{1} \rho(n-1, r)+\cdots+A_{r-1} \rho(n-r+1, r) \tag{5}
\end{equation*}
$$

for any $n \geq r$, where $A_{m}=a_{r-1} V_{m}+\cdots+a_{m} V_{r-1}$ and

$$
\begin{equation*}
\rho(n, r)=\sum_{k_{0}+2 k_{1}+\cdots+r k_{r-1}=n-r} \frac{\left(k_{0}+\cdots+k_{r-1}\right)!}{k_{0}!k_{1}!\ldots k_{r-1}!} a_{0}^{k_{0}} a_{1}^{k_{1}} \ldots a_{r-1}^{k_{r-1}} \tag{6}
\end{equation*}
$$

with $\rho(r, r)=1$ and $\rho(n, r)=0$, if $n \geq r-1$. For $V_{0}=\cdots=V_{r-2}=0$ and $V_{r-1}=1$, we have $V_{n}=$ $\rho(n+1, r)$ for $n \geq 0$. In the case of nonnegative coefficients, the sequence

$$
\left\{\frac{\rho(n, r)}{q^{n-r}}\right\}_{n=0}^{+\infty}
$$

where $q$ is the unique positive characteristic root, converges with

$$
\begin{equation*}
\lim _{n \rightarrow+\infty} \frac{\rho(n, r)}{q^{n-r}}=\frac{1}{1+b_{1}^{\prime}+\cdots+b_{r-1}^{\prime}} \tag{7}
\end{equation*}
$$

where $b_{k}^{\prime}=\sum_{j=k}^{r-1} \frac{a_{j}}{q^{j+1}}$ (see [9]).
(The combinatorial form of sequence (1) has been studied by various methods and techniques; see, e.g., [6], [7], [9], and [11].)

Suppose that $a_{0}, \ldots, a_{r-1}$ are real numbers and let $a_{j_{0}}, a_{j_{1}}, \ldots, a_{j_{s}}$ be the nonvanishing coefficients $\left(a_{j_{s}}=a_{r-1}\right.$ or $\left.j_{s}=r-1\right)$. Then (6) takes the form

$$
\rho(n, r)=\sum_{\left(i_{0}+1\right) k_{i_{0}}+\left(i_{1}+1\right) k_{i_{1}}+\cdots+\left(i_{s}+1\right) k_{i_{s}}=n-r .} \frac{\left(k_{i_{0}}+\cdots+k_{i_{s}}\right)!}{k_{i_{0}}!k_{i_{1}}!\ldots k_{i_{s}}!} a_{i_{0}}^{k_{i_{0}}} a_{i_{1}}^{k_{i_{1}}} \ldots a_{i_{s}}^{k_{i_{s}}}
$$

Thus, we deduce that $\rho(n, r)=0$ for $n<r$ or $n \neq k d(k \in \mathbb{N})$, where $d=\operatorname{gcd}\left\{j+1 ; a_{j} \neq 0\right\}$. For $d=\operatorname{gcd}\left\{j+1 ; a_{j} \neq 0\right\} \geq 2$, it was shown in [8] that the sequence (1) has $d$ subsequences of type

CONVERGENCE OF $r$-GENERALIZED FIBONACCI SEQUENCES AND AN EXTENSION OF OSTROWSKI'S CONDITION
(1) in the case of nonnegative coefficients. For $a_{0}, \ldots, a_{r-1}$ real, we can derive from ( $C$ ) that the sequence (1) also owns $d$ subsequences $\left\{V_{n}^{(j)}\right\}_{n \geq 0}(0 \leq j \leq d-1)$ of type (1) defined as follows: $V_{n}^{(j)}=V_{n d+j}=A_{j} \rho(n d, r)+A_{d+j} \rho((n-1) d, r)+\cdots+A_{r-d+j} \rho((n+1) d-r, r)$ for $0 \leq j \leq d-1$. So, if the sequence (1) converges for any choice of initial conditions, we have $V_{n}=V_{n}^{(j)}$ for any $j$, which implies that $d=\operatorname{gcd}\left\{j+1 ; a_{j} \neq 0\right\}=1$.

Proposition 2.1: Let $\left\{V_{n}\right\}_{n \geq 0}$ be a sequence (1), where $a_{0}, \ldots, a_{r-1}$ are real numbers satisfying (2). If $\left\{V_{n}\right\}_{n \geq 0}$ converges for any choice of the initial conditions, then condition $(C)$ is satisfied.

The following example allows us to see that condition $(C)$ is not sufficient for the convergence of a sequence (1), in the case of arbitrary real coefficients, with (2).

Example 2.1: Let $\left\{V_{n}\right\}_{n \geq 0}$ be a sequence (1) whose characteristic polynomial is

$$
P(X)=X^{3}-a_{0} X^{2}-a_{1} X-a_{2}
$$

with $a_{0}=2+v, a_{1}=-(1+2 v)$, and $a_{2}=v(v \neq 0,-2)$. Thus, $\sum_{j=0}^{2} a_{j}=1$ and ( $\left.C\right)$ is satisfied. Because the multiplicity of the characteristic root $\lambda=1$ is 2 , the sequence $\left\{V_{n}\right\}_{n \geq 0}$ does not converge for any choice of initial conditions.

## 3. CONVERGENCE OF SEQUENCES (1)

Hörner's diagram is used for practical computations of values of polynomials (see, e.g., [1]). In this section we apply this method to the convergence of some sequences (1), where the role of the initial conditions is considered.

Let $\left\{V_{A}(n)\right\}_{n \geq 0}$ be a sequence (1) whose initial conditions are $A=\left(\alpha_{0}, \ldots, \alpha_{r-1}\right)$. Let $\lambda_{1}, \ldots$, $\lambda_{s}$ be its real characteristic roots with multiplicities $m_{1}, \ldots, m_{s}$, respectively. Because the coefficients and initial conditions are real numbers, we deduce that if $\lambda=\lim _{n \rightarrow+\infty} \frac{V_{A}(n+1)}{V_{A}(n)}$ exists, then $\lambda$ is a real characteristic root.

Proposition 3.1: Let $\left\{V_{A}(n)\right\}_{n \geq 0}$ be a sequence (1) whose coefficients and initial conditions are real numbers. Suppose that

$$
\begin{equation*}
\sum_{j=0}^{k} a_{j} \leq 1 \text { for } 0 \leq k \leq r-1 \tag{8}
\end{equation*}
$$

If $\lim _{n \rightarrow+\infty} \frac{V_{A}(n+1)}{V_{A}(n)}$ exists and is positive, then $\left\{V_{A}(n)\right\}_{n \geq 0}$ converges.
Proof: Condition (8) implies that $b_{0}=1$ and $b_{k}=1-\sum_{j=0}^{k-1} a_{j} \geq 0$. Hence, from the Hörner diagram we deduce that, for any real zero $\lambda$ of the characteristic $P(X)$, we have $\lambda \leq 1$. Since

$$
V_{A}(n)=\sum_{l=1}^{s} \sum_{j=0}^{m_{s}-1} \beta_{l, j} n^{j} \lambda_{l}^{n}
$$

where $\left|\lambda_{1}\right| \geq\left|\lambda_{2}\right| \geq \cdots \geq\left|\lambda_{i}\right| \geq \cdots \geq\left|\lambda_{k}\right|$ and $\beta_{l, j}$ are obtained from initial condition A (see [2]), it follows that when $\lim _{n \rightarrow+\infty} \frac{V_{A}(n+1)}{V_{A}(n)}=\lambda_{i}$ exists and is positive, we have

$$
0<\lim _{n \rightarrow+\infty} \frac{V_{A}(n+1)}{V_{A}(n)}=\lambda_{i} \leq 1 \text { and } V_{A}(n)=\sum_{l=i}^{s} \sum_{j=0}^{m_{s}-1} \beta_{l, j} n^{j} \lambda_{l}^{n} \text { with } \sum_{j=0}^{m_{i}-1} \beta_{i, j} n^{j} \neq 0
$$

For $\lambda_{i}<1$, we deduce that $\lim _{n \rightarrow+\infty} V_{A}(n)=0$. For $\lambda_{i}=1$, condition (8) implies that $\lambda_{i}=1$ is a simple characteristic root. Also, $\left|\lambda_{j}\right|<\lambda_{i}=1$ for $j>i$. Therefore, Binet's formula implies that $\left\{V_{A}(n)\right\}_{n \geq 0}$ converges.

Remark 3.1: We can also use Descartes' rule of signs to derive the convergence of $\left\{V_{A}(n)\right\}_{n \geq 0}$. More precisely, we have $P(X)=\left(b_{0} X^{r-1}+\cdots+b_{r-1}\right)(X-1)+P(1)$, where $b_{0}=1, b_{k}=1-\sum_{j=0}^{r-2} a_{j}$ $\geq 0$, and $P(1)=1-\sum_{j=0}^{r-2} a_{j} \geq 0$, by (9). From Descartes' rule, we have $Q(x)>0$ for every $x \geq 0$. Thus, $P(x)>0$ for every $x>1$. Hence, $\lambda \leq 1$ for every positive zero $\lambda$ of $P(X)$.

Proposition 3.2: Let $\left\{V_{A}(n)\right\}_{n \geq 0}$ be a sequence (1) whose coefficients and initial conditions are real numbers. Suppose that

$$
\begin{equation*}
a_{0} \geq-1, \sum_{j=0}^{k}(-1)^{j+1} a_{j} \leq 1 \text { for } 1 \leq k \leq r-2, \sum_{j=0}^{r-2}(-1)^{j+1} a_{j}<1 \tag{9}
\end{equation*}
$$

If $\lim _{n \rightarrow+\infty} \frac{V_{A}(n+1)}{V_{A}(n)}$ exists and is negative, then $\left\{V_{A}(n)\right\}_{n \geq 0}$ converges. More precisely, we have $\lim _{n \rightarrow+\infty} V_{A}(n)=0$.

Proof: We have $Q(X)=(-1)^{r} P(-X)$; thus, $\lambda$ is a zero of $P(X)$ if and only if $-\lambda$ is a zero of $Q(X)$. Set $Q(X)=\left(b_{0} X^{r-1}+\cdots+b_{r-1}\right)(X-1)+Q(1)$; expression (9) implies that $b_{0}=1, b_{k}=$ $1+\sum_{j=0}^{k-1}(-1)^{j} a_{j} \geq 0(k=1, \ldots, r-2)$, and $b_{r-1}=1+\sum_{j=0}^{r-2}(-1)^{j} a_{j}>0$. We now have $Q(1) \neq 0$ and Hörner's diagram implies that $\lambda<1$ for any real zero $\lambda$ of $Q(X)$. Thus, for any real zero $\lambda$ of $P(X)$, we have also $\lambda>-1$. Since $\lim _{n \rightarrow+\infty} \frac{V_{A}(n+1)}{V_{A}(n)}$ exists, it follows from Binet's formula that $\left\{V_{A}(n)\right\}_{n \geq 0}$ converges with $\lim _{n \rightarrow+\infty} V_{A}(n)=0$.
Example 3.1: Let $\left\{V_{A}(n)\right\}_{n \geq 0}$ be a sequence (1) defined by

$$
V_{A}(n+1)=\frac{9}{20} V_{A}(n)+\frac{18}{20} V_{A}(n-1) \text { for } n \geq 1
$$

It is easy to see that $a_{0}=\frac{9}{20}$ and $a_{1}=\frac{18}{20}$ satisfy condition (9). For $A=\left(1,-\frac{3}{4}\right)$, we have

$$
\lim _{n \rightarrow+\infty} \frac{V_{A}(n+1)}{V_{A}(n)}=-\frac{3}{4}<0
$$

Thus, $\left\{V_{A}(n)\right\}_{n \geq 0}$ converges with $\lim _{n \rightarrow+\infty} V_{A}(n)=0$. For any $A \neq\left(1 \alpha,-\frac{3 \alpha}{4}\right)$, where $\alpha \neq 0$ is a real number, we have

$$
\lim _{n \rightarrow+\infty} \frac{V_{A}(n+1)}{V_{A}(n)}=\frac{6}{5}>0
$$

and $\left\{V_{A}(n)\right\}_{n \geq 0}$ diverges.

## 4. EXTENSION OF (C) AND CONVERGENCE OF (1)

Let $\left\{V_{n}\right\}_{n \geq 0}$ be a sequence (1), where $a_{0}, \ldots, a_{r-1}$ are real numbers satisfying (2). Then $P(X)=(X-1) Q(X)$, where $Q(X)=b_{0} X^{r-1}+b_{1} X^{r-2}+\cdots+b_{r-1}$ with $b_{k}=\sum_{j=k}^{r-1} a_{j}$, where $b_{0}=1$. Suppose that $b_{j} \neq 0(1 \leq j \leq r-1)$ and set

$$
H=H(Q)=\max \left\{\left|\frac{b_{1}}{b_{0}}=b_{1}\right|,\left|\frac{b_{2}}{b_{1}}\right|, \ldots,\left|\frac{b_{r-1}}{b_{r-2}}\right|\right\} .
$$

Let $R(X)=X^{r-1}-X^{r-2}-\cdots-X-1$ and let $\widetilde{q}>0$ be its unique positive zero. Then $\widetilde{q}>0$ is also a solution of the equation $X^{r}-2 X^{r-1}+1=0$. A straightforward computation allows us to derive that

$$
\frac{2(r-1)}{r} \leq \widetilde{q}<2 .
$$

Lemma 4.1: Let $\widetilde{q}>0$ be the unique positive zero of $R(X)=X^{r-1}-X^{r-2}-\cdots-X-1$ and $M>0$. Then the following two conditions are equivalent:

$$
\begin{gather*}
M \widetilde{q}<1 ;  \tag{10}\\
M<1 \text { and } M^{r}-2 M+1>0 . \tag{11}
\end{gather*}
$$

Proof: It is clear that $\widetilde{q} \geq 1$. Suppose that $M \widetilde{q}<1$. Then we have $0<M<1 / \widetilde{q} \leq 1$. Since $g(x)=x^{r}-2 x^{r-1}+1$ is a nondecreasing function on $[\widetilde{q},+\infty)$, we have $g(\widetilde{q})=0<g(1 / M)$. Thus, we have $M^{r}-2 M+1>0$. Conversely, suppose that $0<M<1$ and $M^{r}-2 M+1>0$. Then $0<\left(M^{r}-2 M+1\right) / M^{r}=g(1 / M)$ and $1 / M>1$. Since $g(x) \leq 0$ for $1 \leq x \leq \widetilde{q}$, we must have $1 / M>\widetilde{q}$, i.e., $M \widetilde{q}<1$.

Lemma 4.2: Let $Q(X)=b_{0} X^{r-1}+b_{1} X^{r-2}+\cdots+b_{r-1}$. Assume that $b_{0}=1$ and $b_{j} \neq 0$ for $1 \leq j \leq$ $r-1$. Then the zeros of $Q(X)$ have modulus bounded by $H \widetilde{q}$.

Proof: For every real number $X$, we have

$$
\begin{aligned}
|Q(X)| & \geq\left|X^{r-1}\right|-\left|b_{1} X^{r-2}\right|-\cdots-\left|b_{r-1}\right| \\
& =\left|X^{r-1}\right|-\left|\frac{b_{1}}{b_{0}} X^{r-2}\right|-\left|\frac{b_{2}}{b_{1}} \frac{b_{1}}{b_{0}} X^{r-3}\right|-\cdots-\left|\frac{b_{r-1}}{b_{r-2}} \cdots \frac{b_{1}}{b_{0}}\right| \\
& \geq|X|^{r-1}-H X^{r-2}-H^{2} X^{r-3}-\cdots-H^{r-1}
\end{aligned}
$$

If $X=z H \widetilde{q}$, where $|z|>1$, then

$$
|Q(X)| \geq|z|^{r-1} H^{r-1} \widetilde{q}^{r-1}-H|z|^{r-2} H^{r-2} \widetilde{q}^{r-2}-\cdots-H^{r-1}=H^{r-1} R(|z| \widetilde{q})>0 .
$$

Suppose that $Q(1) \neq 0$. Let $X=\alpha Y(\alpha>0)$ and let

$$
Q_{\alpha}(Y)=Y^{r-1}+\frac{b_{1}}{\alpha} Y^{r-2}+\frac{b_{2}}{\alpha^{2}} Y^{r-3}+\cdots+\frac{b_{r-1}}{\alpha^{r-1}} .
$$

If $y_{0}$ is a zero of $Q_{\alpha}(X)$, then $x_{0}=\alpha y_{0}$ is a zero of $Q(X)$ and $H_{\alpha}=H\left(Q_{\alpha}\right)=\frac{H}{\alpha}$. Let $\alpha>0$ be such that $H_{\alpha}<1$ and $H_{\alpha}^{r}-2 H_{\alpha}+1>0$. Then Lemma 4.2 implies that the zeros of $Q_{\alpha}(Y)$ are of modulus $<1$ and those of $Q(X)$ are of modulus $<\alpha$. Let

$$
\alpha_{0}=\inf \left\{\alpha>0 ; H_{\alpha}<1 \text { and } H_{\alpha}^{r}-2 H_{\alpha}+1>0\right\} .
$$

Elementary computation using the function $f(x)=x^{r}-2 x+1$ allows us to deduce that $\alpha_{0}=\frac{H}{x_{0}}$, where $x_{0} \neq 1$ is the other positive zero of the equation $x^{r}-2 x+1=0$. Thus, we can formulate the following result.

Proposition 4.1: Let $Q(X)=X^{r-1}+b_{1} X^{r-2}+\cdots+b_{r-1}$ satisfy $Q(1) \neq 0$. Assume that the $b_{j}$ 's are not zero. Then, for any $\lambda$ of $Q(X)$, we have $|\lambda|>\frac{H}{x_{0}}$, where $x_{0} \neq 1$ is the positive zero of $x^{r}-2 x+1=0$

The connection between ( $C$ ) and (10) may be expressed as follows.
Corollary 4.1: Let $\widetilde{q}$ be the unique positive zero of $R(X)=X^{r-1}-X^{r-2}-\cdots-X-1$. Assume that the $b_{j}$ 's are not zero and that

$$
H=\max \left\{\left|b_{1}\right|,\left|\frac{b_{2}}{b_{1}}\right|, \ldots,\left|\frac{b_{r-1}}{b_{r-2}}\right|\right\} .
$$

Then, for $M=H$, condition (10) implies condition (C).
Proof: Suppose that condition (10) is satisfied. Then Lemma 4.1 implies that $H<1$. If $a_{0}=0$, we can deduce that $b_{0}=b_{1}=1$ and thus $H \geq 1$, which gives a contradiction.

For the convergence of sequences (1) in the case of arbitrary real coefficients, condition (10) for $M=H$ may replace ( $C$ ) considered in the case of nonnegative coefficients. More precisely, we have the following result.
Proposition 4.2: Let $\left\{V_{n}\right\}_{n \geq 0}$ be a sequence (1), where $a_{0}, \ldots, a_{r-1}$ are real numbers satisfying (2). Assume that Hörner's $b_{j}$ 's are not zero and that

$$
H=\max \left\{\left|b_{1}\right|,\left|\frac{b_{2}}{b_{1}}\right|, \ldots,\left|\frac{b_{r-1}}{b_{r-2}}\right|\right\} .
$$

Then, if (10) is satisfied for $M=H$, the sequence $\left\{V_{n}\right\}_{n \geq 0}$ converges for any choice of initial conditions.

Proof: Set $C=V_{r-1}+b_{1} V_{r-2}+\cdots+b_{r-1} V_{0}$ and $L=\frac{C}{1+b_{1}+\cdots+b_{r-1}}$. Consider the sequence $\left\{W_{n}\right\}_{n \geq 0}$ defined by $W_{n}=V_{n}-L$. From (4), we deduce that $W_{n}=-b_{1} W_{n-1}+\cdots-b_{r-1} W_{n-r+1}$ for $n \geq r-1$. Thus, $\left\{W_{n}\right\}_{n \geq 0}$ is also a sequence (1) of order $r-1$ whose combinatorial expression defined by (5) and (6) is

$$
W_{n}=B_{1} \rho^{\prime}(n, r-1)+B_{1} \rho^{\prime}(n-1, r-1)+\cdots+B_{r-1} \rho^{\prime}(n-r+2, r-1) \text { for } n \geq r-1 \text {, }
$$

where $B_{m}=-b_{r-1} W_{m}-\cdots-b_{m} W_{r-1}(m=1, \ldots, r-1)$ and

$$
\rho^{\prime}(n, r-1)=\sum_{k_{1}+2 k_{1}+\cdots+(r-1) k_{r-1}=n-r+1} \frac{\left(k_{1}+\cdots+k_{r-1}\right)!}{k_{1}!\ldots k_{r-1}!} c_{1}^{k_{1}} \ldots c_{r-1}^{k_{r-1}},
$$

where $c_{j}=-b_{j}, \rho^{\prime}(k, k)=1$, and $\rho^{\prime}(n, k)=0$ if $n \geq k-1$. Therefore, $\left\{V_{n}\right\}_{n \geq 0}$ converges for any choice of initial conditions if and only if $\lim _{n \rightarrow+\infty} W_{n}=0$ if and only if $\lim _{n \rightarrow+\infty} \rho^{\prime}(n, r-1)=0$. Suppose $b_{j} \neq 0(1 \leq j \leq r-1)$. Then

$$
\left|b_{1}\right|^{k_{1}} \cdots\left|b_{r-1}\right|^{k_{r-1}}=\left|b_{1}\right|^{k_{1}+\cdots+k_{r-1}}\left|\frac{b_{2}}{b_{1}}\right|^{k_{2}+\cdots+k_{r-1}} \cdots\left|\frac{b_{r-1}}{b_{r-2}}\right|^{k_{r-1}}
$$

Thus, we have

$$
\begin{equation*}
\left|\rho^{\prime}(n, r-1)\right| \leq H^{n-r+1} \sum_{k_{1}+2 k_{1}+\cdots+(r-1) k_{r-1}=n-r+1} \frac{\left(k_{1}+\cdots+k_{r-1}\right)!}{k_{1}!\ldots k_{r-1}!} . \tag{12}
\end{equation*}
$$

From expression (7) we derive that the right-hand side of (12) is asymptotically equivalent to the expression

$$
\frac{(H \widetilde{q})^{n-r+1}}{\widetilde{q}^{-1}+2 \widetilde{q}^{-2}+\cdots+(r-1) \widetilde{q}^{-r+1}}
$$

(see Theorem 3.2 of [9]). The conclusion follows from (10).
Condition (10) is not necessary for the convergence of a sequence (1), as is shown in the following example.

Example 4.1: Let $\left\{V_{n}\right\}_{n \geq 0}$ be a sequence (1), where $r=3$ and $a_{0}=1-\mu, a_{1}=\mu-\alpha, a_{2}=\alpha$ with $\mu \neq 0$ and $\alpha \neq 0$. Then $a_{0}+a_{1}+a_{2}=1, b_{1}=\mu$, and $b_{2}=\alpha$. For example, if $\mu=\frac{9}{10}$ and $\alpha=\frac{2}{10}$, we deduce that $\lambda_{0}=1, \lambda_{1}=\frac{2}{5}$, and $\lambda_{2}=\frac{1}{2}$ are simple zeros of $P(X)$. Thus, the sequence $\left\{V_{n}\right\}_{n \geq 0}$ converges. Meanwhile, in this case we have $H=\frac{9}{2}$, and $\widetilde{q}=\frac{1+\sqrt{5}}{2}$ is the solution of $x^{2}=x+1$, so $H \widetilde{q}>1$. Other values of $\mu$ and $\alpha$ may give the same conclusion.

## 5. CONCLUDING REMARKS

Let us consider the following classical lemma (see, e.g., [5] and [10]).
Lemma 5.1: Let $R(X)=b_{0} X^{s}+b_{1} X^{s-1}+\cdots+b_{s}\left(b_{0} \neq 0\right)$ be a polynomial of real coefficients. Assume that the $b_{j}$ 's are not zero. Set

$$
\begin{gathered}
M_{1}(R)=\max \left\{1, \sum_{j=1}^{s}\left|\frac{b_{j}}{b_{0}}\right|\right\}, M_{2}(R)=\sum_{j=0}^{s-1}\left|\frac{b_{j+1}}{b_{j}}\right|, \\
M_{3}(R)=\max \left\{\left|\frac{b_{j}}{b_{j-1}}\right|^{1 / j} ; 1 \leq j \leq s\right\}, M_{4}(R)=\max \left\{\left|\frac{b_{s}}{b_{s-1}}\right|, 2\left|\frac{b_{j}}{b_{j-1}}\right| ; 1 \leq j \leq s-1\right\} .
\end{gathered}
$$

Thus, $|\lambda| \leq M_{j}(R)(j=1,2,3,4)$ for any zero $\lambda$ of $R(X)$.
Condition (2) implies that $P(X)=(X-1) Q(X)$, where $Q(X)=b_{0} X^{r-1}+b_{1} X^{r-2}+\cdots+b_{r-1}$ with $b_{k}=\sum_{j=k}^{r-1} a_{j}$ and $b_{0}=1$. Thus, if $a_{0}=0$, we have $b_{0}=b_{1}$, which implies that $M_{j}(Q) \geq 1$ for $j=2,3,4$. In particular, if $M_{j}(Q)<1(j=2,3,4)$, we deduce that $a_{0} \neq 0$, and (C) is satisfied.

Proposition 5.1: Let $\left\{V_{n}\right\}_{n \geq 0}$ be a sequence (1) whose coefficients are real numbers satisfying (2). Let $Q(X)=b_{0} X^{r-1}+b_{1} X^{r-2}+\cdots+b_{r-1}$, where $b_{k}=\sum_{j=k}^{r-1} a_{j}$. Assume that the $b_{j}$ 's are not zero. Then, if $M_{j}(Q)<1$ for some $j=2,3,4$, the sequence $\left\{V_{n}\right\}_{n \geq 0}$ converges for any choice of initial conditions.

The convergence of a sequence (1) has been studied in [3] and [4] for $r=2,3$. Proposition 5.1 extends Theorem 2 of [3] and Theorem 1 of [4] to $r \geq 2$.

Remark 5.1: Let $\left\{V_{n}\right\}_{n \geq 0}$ be a sequence (1) and set

$$
M=\max \left\{\left|b_{j}\right|^{1 / j} ; j=1, \ldots, r-1\right\}
$$

Assume that the $b_{j}$ 's are not zero. Then all results of Section 4 are still valid if we substitute $M$ for

$$
H=\max \left\{\left|b_{1}\right|,\left|\frac{b_{2}}{b_{1}}\right|, \ldots,\left|\frac{b_{r-1}}{b_{r-2}}\right|\right\} .
$$

Also note that $H \leq M_{4}(Q)$, where

$$
M_{4}(Q)=\max \left\{\left|\frac{b_{s}}{b_{s-1}}\right|, 2\left|\frac{b_{j}}{b_{j-1}}\right| ; 1 \leq j \leq s-1\right\}
$$

## ACKNOWLEDGMENT

The authors would like to express their sincere gratitude to the anonymous referee for several useful and valuable suggestions that improved this paper. In particular, Lemma 4.2 is due to the referee.

## REIERENCES

1. B. Demidovitch \& I. Maron. Eléments de Calcul Numérique. 2nd ed. Moscow: Edition MIR, 1979.
2. F. Dubeau, W. Motta, M. Rachidi, \& O. Saeki. "On Weighted r-Generalized Fibonacci Sequences." The Fibonacci Quarterly 35.2 (1997):137-47.
3. W. Gerdes. "Convergent Generalized Fibonacci Sequences." The Fibonacci Quarterly 15.2 (1977):156-60.
4. W. Gerdes. "Generalized Tribonacci Numbers and Their Convergent Sequences." The Fibonacci Quarterly 16.3 (1978):269-75.
5. A. S. Householder. The Numerical Treatment of a Single Non-linear Equation. New York: McGraw-Hill, 1970.
6. S. T. Klein. "Combinatoric Representation of Generalized Fibonacci Numbers." The Fibonacci Quarterly 29.2 (1991):124-31.
7. C. Levesque. "On $m^{\text {th }}$-Order Linear Recurrences." The Fibonacci Quarterly 23.4 (1985): 290-95.
8. M. Mouline \& M. Rachidi. "Suites de Fibonacci Généralisées et Chaines de Markov." Real Academia de Ciencias Exatas, Fisicas y Naturales de Madrid 89.1-2 (1995):61-77.
9. M. Mouline \& M. Rachidi. "Application of Markov Chains Properties to r-Generalized Fibonacci Sequences." The Fibonacci Quarterly 37.1 (1999):34-38.
10. A. M. Ostrowski. Solutions of Equations in Euclidean and Banach Spaces. New York and London: Academic Press, 1973.
11. A. N. Philippou. "A Note on the Fibonacci Sequence of Order $k$ and the Multinomial Coefficients." The Fibonacci Quorterly 21.1 (1983):82-86.
AMS Classification Numbers: 40A05, 40A25, 45M05
